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General Marking Guidance

o All candidates must receive the same
treatment. Examiners must mark the first candidate in
exactly the same way as they mark the last.

e Mark schemes should be applied positively. Candidates
must be rewarded for what they have shown they can do
rather than penalised for omissions.

e Examiners should mark according to the mark scheme
not according to their perception of where the grade
boundaries may lie.

e Thereis no ceiling on achievement. All marks on the mark
scheme should be used appropriately.

e All the marks on the mark scheme are designed to be
awarded. Examiners should always award full marks if
deserved, i.e. if the answer matches the mark
scheme. Examiners should also be prepared to award
zero marks if the candidate’s response is not worthy of
credit according to the mark scheme.

e Where some judgement is required, mark schemes will
provide the principles by which marks will be awarded
and exemplification may be limited.

e When examiners are in doubt regarding the application
of the mark scheme to a candidate’s response, the team
leader must be consulted.

e Crossed out work should be marked UNLESS the
candidate has replaced it with an alternative response.



Paper 1 marking principles for Sections A and B

Candidate responses

For open-response questions, the candidate does not have to write in full sentences. If
appropriate, they may respond using single words or phrases.

There are no marks for quality of language in this paper, so errors and omissions in spelling
and grammar will be tolerated as long as they do not interfere with

communication.

Consider only as many elements as there are marks, for example for a 1-mark answer, the
candidate’s first response is taken for assessment, even if this response is incorrect but the
correct information follows as a further element. Where 2 marks are available, award the
individual marks discretely but apply the order of elements rule.

Written responses in the wrong language cannot be awarded a mark.

Guidance to examiners on understanding and applying the
mark scheme

Alternative ways of giving the same answer are indicated with a slash (/) in between the
alternative responses, for example: It’s cheap/affordable.

Where appropriate, responses are separated with *AND’ for compulsory answers and ‘OR’ for
possible answers.

Any parts of an answer that are not essential are bracketed, for example: Q: What did he
study? A: (He studied) Maths.

Candidates are likely to write variants on the acceptable answers listed, and these should be
considered as acceptable if they convey the correct answer.

All possible answers have the correct amount of marks appropriate for the information
required indicated in brackets.

Suggested incorrect answers are indicated in the *Reject’ column.



Paper 1: Reading, Writing and Translation mark scheme

Section A
Question | Answer Mark
number
Example: | B
1(a) G 1)
1(b) F (1)
1(c) D 1)
1(d) K (1)
1(e) C (1)
1(f) H (1)
Question | Answer Mark
number
Example: | Raihan
2(a) Raihan (1)
2(b) Keya (1)
2(c) Miron (1)
2(d) Miron (1)
2(e) Keya (1)
2(f) Raihan (1)
2(9) Keya (1)
2(h) Miron (1)
Question Answer Accept Reject Mark
number
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Question Answer Accept Reject Mark
number
4(@) (0 o= g e e 5f: ()
a1 fresAEs Ffers (1) el Sae /ARl iweosl | Resits R /ol
AND e I GFHE
IR Gifere Reaost @ | FrEmdt
Ry S - T ofice e ° BEIEI RS ILEY
TSTS R @y | e T e o o
ey
@ | o o B e
. aAYfeq 7 AVIRC (=N
(1) sl
DAY AT
et (g A
AND PR af*rrs /fRemior
RGIITR T g AREHF T | AN IS FACA! S EIEACEE]

ERIECEX] (1)

W e 2679 OF T
el @A/ ea 2co
TRl F

Gifers fRrealeon! FRICl

AL @A




4(a)(iii) e gfd: (2)
TG ATIIL IR (AT
FIET eliew TTEl (TRITel ~ o $ DRSS
T ST TN (1) © el
AND CoPmE af*rwEd e GfHe
As
ermER afrwear (RrRdioe ST STAIICT
o Glesiciticd
7B fmw affrsd @=) (1) — el
>4l
a(a)(iv) e 5:
(@) @0 (1) Srefiyfs @R TR To WA | (2)
AND AR el
A (FAF) N zfEs = w0 (@) et A0S | groq e
(1) sfpifere
sy |
PR T fafer sufafs | F19 CPOVeT (eR e | G s
GBI WA T TR T
(1)
AND
S AfSBIT R (QTF | iy e 2

e Afeditas Iz (ATF
S ABATTFS! S I
(1)

=gt /aifefs TS (I

Total marks for Q4a = 10




Question Answer Accept Reject Mark
number
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Total marks for Q4b = 4

Total for Section A= 40 marks




Section B

General guidance on using levels-based mark schemes

Step 1 Decide on a band

Examiners should first of all consider the answer as a whole and then decide which descriptors
most closely match the answer and place it in that band. The descriptors for each band indicate
the different features that will be seen in the student’s answer for that band.

When assigning a level you should look at the overall quality of the answer and not focus
disproportionately on small and specific parts of the answer where the student has not
performed quite as well as the rest. If the answer covers different aspects of different bands of
the mark scheme, you should use a ‘best fit’ approach for defining the level and then use the
variability of the response to help decide the mark within the level. For example, if the response
is predominantly in band 4-7 with a small amount of band 8-10 material, it would be placed in
band 4-7 but be awarded a mark near the top of the band because of the band 8-10 content.

Step 2 Decide on a mark

Once you have decided on a band, you will then need to decide on a mark within the band.

You will decide on the mark to award based on the quality of the answer; you will award a mark
towards the top or bottom of that band depending on how students have evidenced each of the
descriptor bullet points.

You will modify the mark based on how securely the trait descriptors are met in that band.

You will need to go back through the answer as you apply the mark scheme to clarify points and
assure yourself that the band and the mark are appropriate.



Assessment Criteria
Question 5 (14 marks)

For this question, students’ work is marked by Pearson using assessment criteria
given in two mark grids:

e communication and content
e linguistic knowledge and accuracy.

The student is expected to produce 80 words for this task. The number of words is approximate and students
will not be penalised for writing more or fewer words than recommended in the word count. All work
produced by the student must be marked.

Question 5: communication and content mark grid

0 ¢ No rewardable material

1-2 e Limited ability to use language to narrate and describe people, events and ideas;
communication of information is occasionally successful

e Repetitive use of a limited selection of common words and phrases; limited use of
appropriate register and style

3-5 e Some successful use of language to narrate and describe people, events and
ideas; communication of relevant information is sometimes successful

e Some successful but repetitive use of common, familiar vocabulary; some use of
appropriate register and style

6-7 e Successful use of language to narrate and describe people, events and ideas;
communication of information is often successful

e A range of familiar and less common vocabulary and expression is evident; mostly
appropriate use of register and style

Additional guidance

Register and style definition — language used is at a suitable level of formality for the purpose of the task
and, where appropriate, the target audience.



Question 5: linguistic knowledge and accuracy mark grid

0 ¢ No rewardable material
1-2 e Produces individual words and set phrases
e Limited accuracy in use of straightforward grammatical structures,limited success
in referring to past, present and future events; regular errors prevent meaning
being conveyed
3-5 e Produces simple, short sentences, which are sometimes linked
e Some accurate use of straightforward grammatical structures, occasional success
in referring to past, present and future events; sometimes errors prevent meaning
being conveyed
6-7 e Produces some more complex sentences with some appropriate linking

e Mostly accurate use of straightforward grammatical structures, some success in
referring to past, present and future events; occasionally errors prevent meaning
being conveyed

Additional guidance

Complex language is considered to be:
e varied and complex word order

e extended sentences that include a range of structures that help to justify ideas
e conceptually more challenging language.

Straightforward grammatical structures are considered to be:
e repetitive, simple word order

e short, simple sentences that use a repetitive range of common, high-frequency structures.

Errors: The mark grid describes the frequency of errors and the impact that errors have on
coherence.

Errors that prevent meaning being conveyed:

e errors that mean the reader cannot understand the message, for example consistent
mismatching of subject, predicate and parts of speech; incorrect choice of vocabulary; use of
spoken language; wrong tense; and spelling errors that change the meaning. For instance,

el (mother) and &1 (black) should be considered acceptable but s (head) and F& (deaf)
should not

e errors that convey the wrong message
e mother-tongue interference.

NB: these are examples only and do not constitute a finite list.



Question 6 (26 marks)
For this question, students’ work is marked by Pearson using assessment criteria given in two mark grids:

e communication and content
e linguistic knowledge and accuracy.

This question contains three bullet points that form part of the task. Failure to cover all
three bullet points will impact on the marks that can be awarded against the requirements
of the communication and content mark grid. In order to access marks in the top band,
students must refer to all bullet points and meet the other assessment criteria in the top
band.

The student is expected to produce 140 words for this task. The number of words is
approximate and students will not be penalised for writing more or fewer words than
recommended in the word count. All work produced by the student must be marked.

Question 6: communication and content mark grid

0 ¢ No rewardable material

1-3 ¢ Communicates brief information relevant to the task with little development

e Occasional adaptation of language to explain or interest or persuade;
straightforward thoughts and ideas are expressed with occasional success

e Variable use of appropriate vocabulary, register and style; repetitive use of
common, familiar language

4-7 ¢ Communicates information relevant to the task with some development of key
points and ideas

e Some effective adaptation of language to explain or interest or persuade; thoughts
and ideas are expressed with some success

e Some appropriate use of vocabulary, register and style; some different examples
of common familiar language

8-10 ¢ Communicates information relevant to the task with development of key points
and ideas

o Effective and sometimes creative adaptation of language to explain or interest or
persuade; thoughts and ideas are expressed successfully

e Appropriate use of vocabulary, register and style; some examples of uncommon
language

11-13 ¢ Communicates information relevant to the task with consistent expansion of key
points and ideas

e Creative adaptation of language to explain or interest or persuade; thoughts and
ideas are expressed with flair

e Consistently appropriate use of vocabulary, register and style throughout; a wide
variety of language is used

Additional guidance

Creative language use - using language in a way designed to create effect and interest.
Goes beyond the standard or predictable response.

Register and style definition — language used is at a suitable level of formality for the
purpose of the task and, where appropriate, the target audience.



Question 6: linguistic knowledge and accuracy mark grid

No rewardable material

Uses mainly straightforward grammatical structures

Occasional sequences of fluent writing, with occasional extended, linked sentences
Occasionally accurate straightforward language and grammatical structures;
occasionally successful references to past, present and future events; errors occur
that sometimes hinder clarity of communication

4-7

Some variation of grammatical structures, including some repetitive instances of
complex language

Prolonged sequences of fluent writing, with some extended, well-linked sentences
Generally accurate language and structures; some successful references to past,
present and future events; errors occur that occasionally hinder clarity of
communication

8-10

Uses a variety of grammatical structures including some different examples of
complex language

Mostly fluent response, with frequent extended sentences, mostly well linked
Mostly accurate language and structures; mostly successful references to past,
present and future events; errors rarely hinder clarity of communication

11-13

Uses a wide variety of grammatical structures, including complex language

Fluent response throughout with extended, well-linked sentences

Consistently accurate language and structures; consistently successful references
to past, present and future events; few or no errors that hinder the clarity of the
communication

Additional guidance

Complex language is considered to be:
e varied and complex word order

e extended sentences that include a range of structures that help to justify ideas
e conceptually more challenging language.

Straightforward grammatical structures are considered to be:
e repetitive, simple word order

e short, simple sentences that use a repetitive range of common, high-frequency structures.




Errors: students are not expected to produce perfect, error-free writing in order to access the top
band. The mark grid describes the frequency of errors and the impact that errors have on
coherence.

Errors that do not hinder clarity:

e errors that do not affect the meaning, for example incorrect use of a pronoun where there is no
confusion as to whom the pronoun refers; incorrect arrangement of words that does not hinder
clarity; occasional use of spoken language that does not affect the meaning; incomplete
sentences that convey the intended message.

e infrequent errors that do not distract the reader from the content and which result in coherent

writing.

Errors that hinder clarity:
e errors that make writing difficult to understand immediately (even if the meaning is eventually

understood)/errors that force readers to re-read in order to understand what is meant
e frequent errors hinder clarity as they will distract the reader from the content of the writing.

NB: these are examples only and do not constitute a finite list.

Paper 1 Marking Principles for Section C

Mis-spelling is tolerated as long as it does not lead to ambiguity, e.g. drought misspelled as
drowght would be acceptable but misspelled as draught would be unacceptable as this would
lead to ambiguity.

Students are likely to write variants on the acceptable answers listed and these should be
considered as acceptable if they convey the same intended meaning.

Translation is successful if a Bangla speaker would understand the translation without having
understood the text in its original language.

Question | Text Correct answer Acceptable Reject Mark
number answers
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